AREHEMREIEZZRVARARAEBILSBSESRERICED
ERFEHRES
(FFA45F9 An BEIHPREQ] )

[REMLSIGED ER]

BEtXtx&%F aH&EHMAERR
X B 3 B 5

ARELEBBEBREZERE V5 —






I FRAEOHE

xR

1. %}ﬁﬁ*ﬁ%g ........................................

O . T EHEDOEMIRDL  cerrerrrr i

3. gﬁﬁ%%@%g ..................................

I FRHAEER

1. B (BEEMIL Y H

1]

)

[-1
[-2
[-3
m-1






I ZRFAEOHME






. AEME

[OR BT Jo i XML N7 525 M OVRBR N7 AL 73 S5 R R 2 AR 2 S i A T

F 9 A TREQOFEMEOPEIIR -1

([ZHS < A4

_\ﬁﬁmﬁ@m%iﬂ—l_mfkﬁbfﬁ

Do

x—1 ERFATOBE BEEVLSEOEINICERIFAE ER)

AEEE ERE SR - #h s REHEE SAEHE
BERRE 1R (KEREEHFESE) 9H8H 2[|F
BREH (8A.9A)
BEERYERE
—
N :
m o (1H15) 0 T

M—1 BEROFEMS



2. ITEDEBIKR
BR4H9 AD THFEOFEmIRWIE, K—21TrT B0 ThHD,

R4 E 9 AEETHETIEE
0 2
- =
—— —_ 4
! fudy, re g
A i -
22 ' "i I I 1Y
AFLN
- PlLam
- [H ==
L L [
17 -'E] 3
."‘,1"
- ..' = —
hE e
' & H 2 : s 3 $

1B 8 (m) EHE (%)

6,729,118 48.2

Hel

ARE(ETEE) : 13,975,000 m

—2 I EOXRBERR (KERPL5E5FER)



. AEHROME

| BEPLSBOENLICFRLIAE |

(1) BR [ERERE1 5]
BRI T b TR CTh - 77,
BEHREIL0 THHoTo,
RAHEEIT 10 R TH Y . HIHIEYER (10) % FREl> T\,
REIERTH T,




C & &) RELES REEBRY)
1. REIRES
(DER
H O T

BCHIBE AR 36 1 B LRI EE < 10 H
R ﬁﬂm%:kmﬁ®5%mﬂﬁﬁﬁamm>”
CGRKETICOW T, REEHETY OBV BN TH D, )

1) 1. BEERBHIEESE35 M OB AL DHLE TS I His: i OV 5L B T CERR 184E1 B /5 7R)
2. FERPHIEES34 K O AG O E (S-S R il sl K OSR B AEYE BT (CER 19411 A EoR)
3. IRKHITER AR LR ; R 1T (BFN69423 7 2ah)

¥ B, KIFFORKIREECRI T2 ATEBREE IR A BTl BRI OV T TR/ O g £ RAS 7 AR TS
WCBWTEM LW Lo T D,



|

F &

BB R R






ARARAE 15 (ML HIEEE)

BERFERER [FH4F9IAH]

HAEH  SF4E9IHASH

G e =,
K B P s B S5
HH
X K (5 H/AITH) E/&
o i [C] 27. 2
b FE [%] 75
JE| A calm
JE H [m/s] <0. 4
TvEZY <0.1
AFVAVT" R <0. 0005
Wi bk <0. 001
Ak A F <0. 001
HRAE AT <0.001
& M AFVT Y <0. 001
LTV ER <0. 005
g R 77wt VTR <0. 005
JWRVTTFVTVTT e <0.0009
/=Y )7 FVTVT e <0. 002
JVRN VT VT N <0. 0009
= AIN VTV e <0. 0003
)78 )= <0. 09
[ppm] e 0.3
AFWADT Fvr by <0.1
Myzy <1
ALy 0. 04
A2 0.1
VAR A V] <0. 0004
) v VI P <0. 0004
)V <0. 0004
A) & BLR <0. 0004
B R 0
B R HE <10
i 5 HE R







